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PSYCHOLOGY

_Zmo{dkmZ

(328)

Time : 3 Hours ] [ Max i mum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has two options. Candidates are required to  attempt questions

from one option only.

(iv) Marks are indicated against each question.

(v) For multiple-choice questions, choose the correct answer from the four

options (a), (b), (c) or (d) and write it in your answer-book.

{ZX}e : (i) Bg ‡ÌZ-nÃ _| Xmo I S> h¢—I S> "A' Edß I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| Xmo {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

(iv) ‡À òH$ ‡ÌZ H$m AßH$ CgHo$ gm_Zo Aß{H$V h°ü&

(v) ~h˛{dH$Înr` ‡ÌZm| Ho$ {bE, Mma {dH$Înm| (H$), (I), (J) AWdm (K) _| go ghr CŒma H$m M`Z H$aoß
Am°a Cgo AnZr CŒma-nwpÒVH$m _| {bI|ü&

SEC TION–A

I S>–A

1. Which of the following shows negligible correlation? 1

(a) 0 to + ·20

(b) + ·21 to + ·40

(c) + ·41 to + ·60

(d) + ·61 to + ·80

{ZÂZ{b{IV _| go H$m°Z-gm › ỳZV_ ghgß~ßY Xem©Vm h°?
(H$) 0 go + ·20

(I) + ·21 go + ·40

(J) + ·41 go + ·60

(K) + ·61 go + ·80
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2. Which of the following is the time frame for young adulthood? 1

(a) 6–12 years

(b) 12–20 years

(c) 20–30 years

(d) 30–50 years

ẁdm ‡m°ãT>Vm {ZÂZ{b{IV _| go {H$g Am ẁ dJ© _| hmoVr h°?

(H$) 6–12 df©

(I) 12–20 df©

(J) 20–30 df©

(K) 30–50 df©

3. Which of the following fields of Psychology studies the impact of pollution and

stress on human behaviour? 1

(a) Educational Psychology

(b) Counselling Psychology

(c) Clinical Psychology

(d) Environmental Psychology

{ZÂZ{b{IV _| go _Zmo{dkmZ Ho$ {H$g joÃ _| ‡XyfU Am°a VZmd H$m _mZd Ï`dhma na nãS>Zo dmbo ‡^md H$m
A‹``Z {H$`m OmVm h°?

(H$) {ejm _Zmo{dkmZ

(I) nam_e© _Zmo{dkmZ

(J) {M{H$Àgm _Zmo{dkmZ

(K) n`m©daU _Zmo{dkmZ

4. Which of the following needs does not fall in the lower-order need? 1

(a) Hunger

(b) Thirst

(c) Love

(d) Temperature regulation
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{ZÂZ{b{IV _| go H$m°Z-gr AmdÌ`H$Vm {ZMbo ÒVa H$s AmdÌ`H$Vm Zht h°?

(H$) ^yI

(I) fl`mg

(J) fl`ma

(K) Vmn-{Z`_Z

5. Which of the following Koshas is considered as the seat of ego? 1

(a) Annamaya Kosha

(b) Manomaya Kosha

(c) Pranamaya Kosha

(d) Anandmaya Kosha

{ZÂZ{b{IV _| go {H$g H$moe H$mo Ahß H$m AmYma _mZm OmVm h°?

(H$) Afi_` H$moe

(I) _Zmo_` H$moe

(J) ‡mU_` H$moe

(K) AmZ›X_` H$moe

6. Write briefly the importance of sympathetic nervous system. 2

Vß{ÃH$m VßÃ H$s AZwH$Ânr ‡Umbr Ho$ _hÀd H$m gßjon _| CÑoI H$s{OEü&

7. What is a psychological test? State the characteristics of it. 2

_Zmod°km{ZH$ narjU ä`m hmoVm h°? BgH$s {deofVmAm| H$m CÑoI H$s{OEü&

8. Differentiate between the preconscious and unconscious levels of human mind. 2

_mZd MoVZm Ho$ nyd©MoV VWm AMoV ÒVam| Ho$ _‹` {d^oX H$s{OEü&

9. Differentiate between interdependent self-construal and independent

self-construal. 2

AßVa-{Z^©a AmÀ_‡À`` VWm ÒdVßÃ AmÀ_‡À`` Ho$ _‹` {d^oX H$s{OEü&

328/HIS/114A 4



10. Explain the concept of social fecilitation. 2

gm_m{OH$ gw{dYm Ho$ ‡À`` H$s Ï`mª`m H$s{OEü&

11. Differentiate between primary group and secondary group. 4

‡mW{_H$ g_yh VWm Jm°U g_yh _| AßVa ÒnÔ> H$s{OEü&

12. Explain reasoning and its two types. 4

VH©$ VWm BgHo$ Xmo ‡H$mam| H$s Ï`mª`m H$s{OEü&

13. Differentiate between the two main approaches to study human development. 4

_mZd {dH$mg Ho$ A‹``Z Ho$ Xmo _wª` —{Ô>H$moUm| Ho$ _‹` {d^oX H$s{OEü&

14. Explain the important steps in developing self-control. 4

AmÀ_{Z ß̀ÃU {dH${gV H$aZo Ho$ _hÀdnyU© MaUm| H$s Ï`mª`m H$s{OEü&

15. Explain any four major components of human-environment interaction. 4

_ZwÓ`-n`m©daU AßVÖ{H´$`m Ho$ {H$›ht Mma _wª` Ad`dm| H$s Ï`mª`m H$s{OEü&

16. Discuss the role of endocrine glands on human development. 4

_mZd {dH$mg _| A›VÖÚmdr J´p›W`m| H$s ^y{_H$m na MMm© H$s{OEü&

17. Suggest any four values which are important for the Indian youth and two ways 

of developing them. 4

^maVr` ẁdm Ho$ {bE {H$›ht Mma _hÀdnyU© _yÎ`m| H$m gwPmd Xr{OE VWm Xmo VarHo$ {OZHo$ ¤mam B›h| {dH${gV
{H$`m Om gHo$ü&
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18. Suggest any four ways of developing healthy relations in between adolescents

and adults. 4

{H$emoam| VWm ‡m°ãT>m| Ho$ _‹` ÒdÒW gß~ßYm| H$mo {dH${gV H$aZo Ho$ {H$›ht Mma VarH$m| H$m gwPmd Xr{OEü&

19. How is abnormal behaviour determined? Explain four criteria. 4

Agm_m›` Ï`dhma H°$go {ZYm©[aV hmoVm h°? Mma _mnX S>m| H$s Ï`mª`m H$s{OEü&

20. ‘‘People join groups for different reasons.’’ Justify your answer with the help of

four such reasons. 4

""bmoJ {d{^fi H$maUm| go g_yh H$m {hÒgm ~ZVo h¢ü&'' AnZo CŒma H$mo Mma Eogo H$maUm| H$s ghm`Vm go {g’
H$s{OEü&

21. Describe any two nonexperimental methods with examples. 6

{H$›ht Xmo J°a-‡m`mo{JH$ {d{Y`m| H$m CXmhaU g{hV dU©Z H$s{OEü&

22. List the principles of development and discuss any two of them. 3+3=6

{dH$mg Ho$ {g’m›Vm| H$s gyMr ~ZmBE VWm {H$›ht Xmo H$s MMm© H$s{OEü&

23. Explain what conflict is and describe any two types of conflict. 6

¤›¤ ä`m h°, Ï`mª`m H$s{OE VWm BgHo$ {H$›ht Xmo ‡H$mam| H$m dU©Z H$s{OEü&

24. Differentiate between pro- and anti-social behaviours. Suggest any two ways of

developing pro-social behaviour in children. 6

g_mO Ho$ nj _| Ï`dhma VWm Agm_m{OH$ Ï`dhma Ho$ _‹` {d^oX H$s{OEü& ~Ém| _| g_mO Ho$ nj _| Ï`dhma 
H$mo {dH${gV H$aZo Ho$ {H$›ht Xmo VarH$m| H$m gwPmd Xr{OEü&

25. How can we be more sensitive towards the environment? Suggest any three

methods. 6

h_ AnZo n`m©daU Ho$ ‡{V {H$g ‡H$ma A{YH$ gßdoXZerb hmo gH$Vo h¢? {H$›ht VrZ VarH$m| H$m gwPmd
Xr{OEü&
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SEC TION–B

I S>–~

OP TION–I

{dH$În–I

( World of Work )

( H$m ©̀-OJV≤ )

26. Which of the following stages usually falls in the age-range of 45–58 years? 1

(a) Decline

(b) Maintenance

(c) Establishment

(d) Exploratory

45–58 Am ẁ-dJ© Ho$ ~rM {ZÂZ{b{IV _| go H$m°Z-gm MaU gmYmaUVÖ AmVm h°?

(H$) godm{Zd•{Œm

(I) AZwajU

(J) ÒWmnZ

(K) g_›dofr

27. What is the goal of general education? State. 2

gm_m›` {ejm H$m b˙` ä`m hmoVm h°? CÑoI H$s{OEü&

28. What is job satisfaction? Explain. 2

H$m ©̀ gßVmof {H$go H$hVo h¢? Ï`mª`m H$s{OEü&

29. Suggest any two techniques of handling job-related stress. 4

H$m`©-gß~ßYr VZmd H$mo Xya H$aZo Ho$ {H$›ht Xmo VarH$m| H$m gwPmd Xr{OEü&

30. What is career planning? Explain the key features of vocational planning. 6

Ho$[a`a {Z`moOZ {H$go H$hVo h¢? Ï`mdgm{`H$ {Z`moOZ H$s _wª` {deofVmAm| H$s Ï`mª`m H$s{OEü&
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OP TION–II

{dH$În–II

( Fa cil i tat ing Early Child hood Ed u ca tion )

( ‡maß{^H$ e°edH$mbrZ {ejm H$m gwJ_rH$aU )

26. Which of the following types of programme should a good play centre have? 1

(a) Flexible

(b) Rigid

(c) Momentary

(d) Permanent

A¿N>o Iob Ho$›– H$m H$m ©̀H´$_ {ZÂZ{b{IV _| go H$m°Z-gm hmoZm Mm{hE?

(H$) bMrbm

(I) gªV

(J) j{UH$

(K) ÒWm`r

27. What is the objective of the feeding programme in a play centre? 2

Iob Ho$›– _| ^moOZ-H$m`©H´$_ Ho$ Am`moOZ H$m ä`m C‘oÌ` h°?

28. Explain the key features of democratic discipline. 2

bmoH$Vmß{ÃH$ AZwemgZ H$s _wª` {deofVmAm| H$s Ï`mª`m H$s{OEü&

29. Explain any four causes which may result in behavioural problems in children. 4

~¿Mm| _| Ï`dhmamÀ_H$ g_Ò`mAm| Ho$ {bE CŒmaXm`r {H$›ht Mma H$maUm| H$s Ï`mª`m H$s{OEü&

30. Suggest and explain any three methods for involving parents in the play centre. 6

_mVm-{nVm H$mo Iob Ho$›– _| gpÂ_{bV H$aZo Ho$ {H$›ht VrZ VarH$m| H$m gwPmd Xr{OE d CZH$s Ï`mª`m
H$s{OEü&

H H H
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